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LTSN 1,110/ 600 EIRXE 1,700 600
4k &l 1,110M 600 EIR/I\ZE 1,700M 600
T EIE 1,110M 600 BE 1,700 600
SYET 1,150M 600 RE2H|EE 1,770 600
fisz 1,150M 600M T &#HIR 1,770M 600
hva-—J11| 1,150 600 %= & 1,770 600M
KEFE= 1,150/ 600M N 1,840 600
RS 1,220M 600M tHmEEPR 1,840M 600
I FRET 1,220/ 600 BR’IT K= 1,840 600
BREE 1,220M 600 Ye/ A 1,840M 600}
REEHR 1,220 600 REaXE 1,840 600
e 1,290M 600 RIESEE 1,890 600
7B SR 1,290M 600 HE 1,890M 600
WA 1,290M 600M b T 1,290H 600
JNTBR 1,290M 600 xXERE 1,290 600
RS 1,290M 600M INSFRETRT 1,290 600/
mAaBR 1,350/ 600M XZEE 1,290 600
e A #HFF 1,350 600 | PIHZEHEFEIZ—IFIL
E= 1,350M 600F | PIHZHEE1-H25—3IF)L
HAHRTFR 1,350M 600 FEHT 1,290 600
F=T 1,390 600 E5AHT 1,290 6003
THES )| FrHET 1,390M 600 JIIEF K Bf 1,350M 600
ARSI 1,390/ 600 EF9HI 1,350 600
= 1,390M 600M KEMIE 1,350 600/
&R 1,390 600M /NSFTH 1,350 600
= EB 1,390M 600M 7NGH 1,700 600
H ./ HHT 1,470 600 HESF 1,770 600
HEEHT 1,470/ 600M E=EF - E 1,770 600
AKX H 1,470M 600M S = -3 1,840 600/
HLE B 1,470M 600 EABE 1,890 600
shBEF 1,550/ 600 RAaABRK 1,890 600
iy N v 1,550M 600H Y RPEFLE 1,940M 600
RREH 1,550 600M mEaEER 1,940 600
A 1,620M 600 RAFHIE 1,940 600
mAaAER 1,620 600 =HEE 1,940 600
RER& 1,620 600 = a 1,940 600






